AK XK803

a b~ WO N B g b WO N B

ga B~ W N P

v=eEt/m

m/s

v=Et/(em) m/s
v=eE’t/m m/s
v=FE’t/(em) m/s

v=eEt/m

10
30
10/mt
20/m
30/1

M,

m/s

A/m
A/m
A/m

0.5 mm

100 cm?®

44.5 pF

178
356
712
890

(1) ™M
(2 ™
) M

a b~ WO N -

I/(u'S)
I/(u S)
I/(u'S)
ul/s
ul/s

pF
pF
pF
pF

NI/Z(u Sl)
Ly SNI/I
NI/Z(u SI)
L SNI/I
NI/Z(u SI)

E V/m

AB
8.9x 10 F/m

<

25 2 30
t v
m kg -e C
2 A 4 A
2 A
—>
X Q )j
e 0.2 m
P" 0.1 m |
Y Q y——
—>
4 A
M Ms My M; Ms A
M Mg
A
m

(AK XK 803

1)



1 4 Q 4 Q 2 R
X, R X,
R X,
11 Q 1 Q 4 Q
21 Q > 0 R X -
3 20 1 Q
4 2 Q 2 Q 4 Q
5 3 Q 1 Q 1 2
6 SW  (OFF) (ON) a b V.,
a
OFF ON g
1 12 V 9 Vv SW
2 12 V 11 Vv 6 Q 12 Q g v,
3 15 V 11 V 12 V 21 V 11 Q
4 15 V 9 V
5 18 V 11 V O
b
7 (A B C D)
A B C D I:’ 77777 i”’[(’g’)’ 77777777 \I
1 12
1 2/3 1 kQ 05 mS 0 o= A =
2 2/3 2 kQ 1 mS 1 \ \ ﬁ : 3 ﬁ
V,=AV, Bl, v : ;
3 3/2 1 kQ 1 mS 0 2 v, | 2 kQ RV
4 3/2 2 kQ 0.5 ms 0 Iy A O
5 3/2 1 kQ 0.5 mS 1 L=CV, DI, |, A O————0
R Q C F VARV,
i A 0 w rad/s
1 6 = tan*{1/(wCR)}  rad N
2 6 =tan'(1+wCR) rad
3 0 = tan'(w’CR) rad R
4 6 = tan'(wCR) rad VT@
5 6 = tan{R/(wC)} rad -|-C
9 1 D Ve ly )
D \(- | ) 2 +1 A
2 H
b D D 02
1 —BHp |l D ]
%
BI 0.1 /
Vo ‘QVJ +
0 10, v V
+1, A +1y A +1, A +1y A +1, A
0.2 f 0.2 / 0.2 f 0.2 012 /
O:l / O:l / O:l / O:l 01 /
O 10 * 0 10+ 0 10+ 0 10+ 0O 10 .+
Vo V Vo V Vo V Vo V v, V
1 2 3 4 5

(AK XK 803 - 2)



10 1 (FET) ]
(1) FET 5 D
2 -
) ©) | G 5@
(3) FET 2 [ ¢ \IN S S
A G Vs IDe—Si °
1 MOS P N (S)
(M) | G
2 MOS N S S
3 N 5
4 P 1
5 P
11 ( ) ]
(1) CdS
() PN
(3) cds
A B C
1
2
3
4
5
12 1 Tr 2 3 =20 pA
VCE:4 V hfe hie
2 3
407 T le gl
hfe \VJ / mA IB_ 40 IJ A ,,,,,
CE P
1 100 300 = 4 V 6 3 3
2 100 / 30 pA
3 200 20 4 L
4 200 i 20 u A
5 250 /
10 / 2 :
10 p A
0 Vee
0.55 0.60 0.65Vge V O 2 4 6 8 V
13 A, B A
[ ]
(1) AO:VO/ViA B :Vf/VO ViA:Vi _Vf A:VO/VI
A= 1/{(ViA/Vo)+( )}
(2) A, B v Via A
A=[ B | © > OV
3 AB 1 A
A=[c] v 5
A
1 V7V, AP /7(1+A,) 1/B° \4 \
2 Vi/V, A, /(1+AB ) 1/ Vo 4
3 V. /V, AB /(1+A,) 1/ Via Vv
4 VIV, A, /(1+Ap ) 1/B°? \2 \Y/
5 V,/V, AB /(1+A,) 1/

(AK XK 803 - 3)



14 R, R, R=250 Q R,=50 Q AP AP
A, A,=V,/V,=20 AP
A, A A=/ A= AA, log,,2 0.3

1 33 dB I |

2 39 dB — %j Vi v

3 45 dB \f R, AP RSV, 0 v

4 51 dB 1 S A

5 66 dB o A
15

1 X=(A+B)+ (A B)

2 X=(A B)+(A+B) A B | X

3 X=(A B)+ (A+B) 0 o 1

4 X=(A+B)+(A B) 0 1 0

5 X=(A+B)+(A B) 1 00

1 1 1
16 1 2
[ ]

(1) f=50 Hz v,

(2) =100 kHz Vv,

(3) f=10 MHz Vv, f

A B C 2t

1

2 Vo V

3

4

5 0 t
17 SW a @ 50 V SW b

@  wv ® =
50 kQ

1 55 kQ b

2 8 kQ W,

3 125 kQ

4 18 kQ I

5 25 kQ
18 300 V 1.0

[ ]
(1) 300 V
(2) 150 V
A B

1 15 V 1.0

2 15 V 1.5

3 30 V 1.0

4 3.0 V 1.5

5 3.0 V 2.0

(AK XK 803 - 4)



19 [ ]
J N C S
(1) w
(2) T
(3) V/m
A B C
1 s Wb N/C
2 s Wb/m? N/C
3 s Wb C/N
4 J s Wwm?® N/C
5 J s W C/N
20 R, Rs 640 Q 32 0 @
C, tand =1/Q
400 Hz
250 Q
C, tand
1 0.01 uF 0.02m
2 002 uF 0.21
3 0.02 uF 0.4m
4 0.05 pF 0.21
5 0.05 uF 0.4m
1 B T P S V Vv
I A [ ] S X
y z X B y
(1) s ( )x ]
(2) (1) S a b V, V
[ ] B 3
(3) Va k kx| Vv A
) V, ) 3 :
(5) L R A 3
A2 2
1 a 2 b 3 4y 5 | I? C/ 1
6 7 1B 8 z 9 B/l 10 5
Voo >x |=
Y
2 Z, Porm ]
v
a
(1) a b Ze Ze=[ 1 Q@ ,
(2) Zo Zo=___] @ % O o
(3) io ] A '
(4) o v o[ ] 5 o Zo Q
(5) Pom Pom=l__ | W ©
V VvV
1 Re+jX, 2 Rg+j(1/X) 3 4 "W'/(2Ry) 5 WI'¥/R. b
6 Rs-jX, 7 Rg-j(1/X,) 8 9 WI/R, 10 'WI*/(4Ry)

(AK XK 803 - 5)



PNP

10 FET

FET

R, R, Q

R

Aop

O<— = —0
O—=—0
O« =0

v

GND O

OGND

10 3 4

2

3

(AK XK 803 -| 6)



